WQCF Phase 3 Expansion Project - Schedule B

	CONTRACTOR / CITY			KIEWIT PACIF	IC CONCORD
ITEM#	DESCRIPTION	QTY	UNIT	ITEM COST	TOTAL COST
1	Influent Pump Station & Southside Facilities	1	LS	\$29,155,200.00	\$29,155,200.00
2	Install 60" (Future) Northside Influent Trunk Sewer	600	LF	\$571.00	\$342,600.00
3	Install 60" (Future) Southside Influent Trunk Sewer	500	LF	\$672.00	\$336,000.00
4	Aggregate Base (Class 2)	2,000	TN	\$34.00	\$68,000.00
5	Asphalt Concrete Paving	1,200	TN	\$66.00	\$79,200.00
	TOTAL BASE BID				\$29,981,000.00

Subcontractors		
Bay Area	Napa	Rebar
Con J Franke	Stockton	Electrical
Hansen Painting	Sacramento	Painting
American Metal	Modesto	Misc. Metals
Hansen Painting	Sacramento	T-Lock
Pengilly	Stockton	Masonry
Blocka	Fremont	HVAC
Braun Const	Elk Grove	Cabinetry
Patent Const	Sacramento	Shoring

WQCF Phase 3 Expansion Project - Schedule B

CONTRACTOR / CITY			WESTERN SUM	MMIT DENVER
ITEM#	DESCRIPTION	QTY	ITEM COST	TOTAL COST
1	Influent Pump Station & Southside Facilities	1	\$29,891,680.00	\$29,891,680.00
2	Install 60" (Future) Northside Influent Trunk Sewer	600	\$506.00	\$303,600.00
3	Install 60" (Future) Southside Influent Trunk Sewer	500	\$542.00	\$271,000.00
4	Aggregate Base (Class 2)	2,000	\$16.10	\$32,200.00
5	Asphalt Concrete Paving	1,200	\$67.10	\$80,520.00
	TOTAL BASE BID			\$30,579,000.00

Subcontractors		_
Regional Steel	Tracy	Rebar
Braun Constr	Elk Grove	Lab Casework
Pengilly	Stockton	Masonry
Fox Loomis	Sacramento	Dewatering
Hansen Painting	Sacramento	Painting
American Metal	Modesto	Metals
M Santo & Sons	Modesto	Plumbing
Blocka	Fremont	HVAC
SJ Electric	Stockton	Electrical

WQCF Phase 3 Expansion Project - Schedule B

CONTRACTOR / CITY				Y MECHANICAL IKLAND
ITEM#	DESCRIPTION	QTY	ITEM COST	TOTAL COST
1	Influent Pump Station & Southside Facilities	1	\$30,847,000.00	\$30,847,000.00
2	Install 60" (Future) Northside Influent Trunk Sewer	600	\$1,090.00	\$654,000.00
3	Install 60" (Future) Southside Influent Trunk Sewer	500	\$1,090.00	\$545,000.00
4	Aggregate Base (Class 2)	2,000	\$30.00	\$60,000.00
5	Asphalt Concrete Paving	1,200	\$70.00	\$84,000.00
	TOTAL BASE BID			\$32,190,000.00

Subcontractors		
Stroer & Graff	Antioch	Shoring
Jaeger	Yuba City	Yard piping
Regional Steel	Tracy	Rebar
O'Neal	Clovis	Masonry
Cranevayor	South El Monte	Handrail
FD Thomas	Medford, OR	Painting
Sahargun	Stockton	Plumbing
Patent Const.	Sacramento	Con. Shoring
Con J Franke	Stockton	Electrical

WQCF Phase 3 Expansion Project - Schedule B

CONTRACTOR / CITY			WALSH PA	CIFIC DUBLIN
ITEM#	DESCRIPTION	QTY	ITEM COST	TOTAL COST
1	Influent Pump Station & Southside Facilities	1	\$32,734,534.00	\$32,734,534.00
2	Install 60" (Future) Northside Influent Trunk Sewer	600	\$450.00	\$270,000.00
3	Install 60" (Future) Southside Influent Trunk Sewer	500	\$450.00	\$225,000.00
4	Aggregate Base (Class 2)	2,000	\$20.00	\$40,000.00
5	Asphalt Concrete Paving	1,200	\$65.00	\$78,000.00
	TOTAL BASE BID			\$33,347,534.00

Subcontractors	_	
George Garcia	San Jose	Paving
Bay Area	Napa	Steel
Braun	Elk Grove	Lab
Pengilly	Stockton	Masonry
American Metal	Modesto	Div. 5 Metals
Hansen Painting	Sacramento	Painting
Blocka	Fremont	HVAC
Nicro	Oakdale	Plumbing
SJ Electric	Stockton	Instrumentation

WQCF Phase 3 Expansion Project - Schedule B

CONTRACTOR / CITY				ONSTRUCTION WARD
ITEM#	DESCRIPTION	QTY	ITEM COST	TOTAL COST
1	Influent Pump Station & Southside Facilities	1	\$38,175,000.00	\$38,175,000.00
2	Install 60" (Future) Northside Influent Trunk Sewer	600	\$1,200.00	\$720,000.00
3	Install 60" (Future) Southside Influent Trunk Sewer	500	\$1,300.00	\$650,000.00
4	Aggregate Base (Class 2)	2,000	\$80.00	\$160,000.00
5	Asphalt Concrete Paving	1,200	\$120.00	\$144,000.00
	TOTAL BASE BID			\$39,849,000.00

Subcontractors	_	
Tabor	Concord	Arch
SJ Electric	Stockton	Electrical
Blocka	Fremont	HVAC
Hanson Painting	Sacramento	Paint
Bay Area	Napa	Rebar
Condon Johnson	Oakland	Shoring
Pengilly	Stockton	Masonry